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A test was conducted to find the number of hours a particular brand of battery lasts. Refer to the
data given below: 200, 204, 197, 191, 203, 198, 216, 210, 202, 204, 198, 203, 181, 205, 194,

and 194. (A) Find the mean hours of operation of the battery. (5%) (B) Find the standard
deviation of hours of operation of the battery. (5%)

A telephone company wants to estimate the mean number of minutes people in a city spend
talking long distance, to within 5 minutes with 95% confidence. From past records, an estimate
of the standard deviation is 12 minutes. What is the minimum sample size? (10%)

HHRAATHE Y RE N 0 REBRRE L E R2(10%)

HRMLATIR B o4 0 R EARR A T(10%)

3 - 6|



http:tftit*1.Jr

